Common-Emitter Amplifier Frequency Response Example
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R p(x,y) = i i i
P X+ Function for calculating parallel resistors.

R :=100000 R, :=120000 R :=4300 RpE:=5600 R :=5000 Ry :=10000

Vp =15 Vo i=-15 VRg =065 V:=0.025 $:=99 o:=0.99
ry =20 r () :=50000 R 3 :=100
vgi=l With v ; =1, the voltage gain is equal to v .
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DC Bias Solution
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Vg =700311 Vc-Vp-=41461 Thus active mode.
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A=V A, ="18.9088 This is the midband voltage gain.

Circuit for r out*
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Circuit for Tin
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Time constant for C ;
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Time constants for ¢ ; (To simplify the calculation, neglect the effect of r ).
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1357 (Rp(RE.I'g) +R3)C3 t 3p = 0.0155 f3p:= f3p = 102529
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13, =(Rg+R3)Cy t3,=0.57 f3,:= f3,=02792

Approximate lower cutoff frequency
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Calculation of K = v  /v'y, for the Miller Theorem.
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Time constants for ¢ .. (To simplify the calculation, neglect the effect of r ).
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